



Kinder Supply List

PLEASE DO NOT BUY SPECIAL SUPPLIES - DO NOT WRITE NAMES ON SUPPLIES

- 1 Pencil box (to hold crayons and pencils)
- 3 Packs of pencils (12 count)
- 1 Pack (3 count) of Papermate pink erasers
- 1 Pair of scissors (Fisher Blunt Tip)
- 4 Glue Sticks (.88oz)
- 1 Liquid bottle of glue
- 4 Packs of crayons (24 count, classic colors)
- 1 Pack of FINE point expo markers
- 1 Pack (4 count) of large expo markers
- 1 Hand Sanitizer Bottle (8oz)
- 2 Containers of Disinfectant Wipes
- 8 Plastic pocket folders with brads (2 pockets with 3 brads) SOLID colors:
 - o 2 Red, 2 Blue, 2 Green, 2 Yellow
- 1 Primary composition book (blank area for drawing at top of page, large lines for writing at bottom)
- 2 Rolls of paper towels
- 1 Box of tissue
- 1 Pack of playdoh (4 count)

Girls only:

- 1 Pack of construction paper
- 1 Box of zip lock bags (Sandwich size)
- 1 Package of heavy-duty sheet protectors (25 count)

Boys only:

- 1 Box of Ziploc bags (Gallon size)
- 1 Pack of washable markers
- 1 Wooden clip board





First Grade Supply List

PLEASE DO NOT BUY SPECIAL SUPPLIES - DO NOT WRITE NAMES ON SUPPLIES

- 4 Packs of pencils (24 count each)
- 4 Large Papermate pink erasers
- 3 Packs of crayons (Crayola 24 count, classic colors)
- 2 Germ-X Sanitizer Bottles (8oz)
- 4 Plastic Pocket folders with brads (1 red, 1 green, 1 blue, 1 yellow)
- 1 3-ring Binder (1 inch)
- 2 Mead Spiral Notebooks (Wide Ruled, 100 sheets)
- 2 Primary Journal K-2 books
- 2 packs of notebook paper
- 2 Packs of Black dry-erase Expo markers
- 3 Boxes of Tissues
- 2 Rolls of paper towels
- 2 Packs of Post-It notes
- 2 Containers of Lysol Wipes
- 2 Cans of Lysol spray





Second Grade Supply List

PLEASE DO NOT BUY SPECIAL SUPPLIES - DO NOT WRITE NAMES ON SUPPLIES

- 3 Packs of pencils (24 Count)
- 5 Plastic pocket folders w/ pockets and brads
 - o (2 blue, 1 red, 1 green, 1 yellow)
- 3 Packs (3 count each) of Magic Rub Erasers
- 1 Pair of scissors (Fisher Blunt Tip)
- 3 Boxes of tissues (80 count each box)
- 1 Pencil pouch
- 1 Package of dividers with tabs
- 2 Packs of notebook paper (100 Sheets, Wide Ruled)
- 4 Spiral notebooks (100 sheet count-wide ruled)
- 4 Glue sticks (.88oz)
- 1 Pack of Crayons (Crayola, classic colors, 24 count)
- 1 Package of Expo Markers (4 count, black)
- 1 Pack of sheet protectors
- 2 Mead Composition Books (Wide Ruled, 100 Sheets)
- 1 Pack of Red BIC Pens
- 1 Pack of Green Pens
- 1 Expo whiteboard Eraser
- 2 Rolls of paper towels
- 3 Lysol Wipes Tubs
- 2 Germ-X Sanitizer Bottles (8oz)

Boys:

• 1 Box of Ziploc bags (Gallon size)

Girls:

• 1 Box of zip lock bags (Sandwich size)

Optional:

- 1 Pack of Crayola Markers
- 1 Pack of Colored pencils
- Personal hand sanitizer
- Headphones
- 12-in ruler
- Water bottle





Third Grade Supply List

PLEASE DO NOT BUY SPECIAL SUPPLIES - DO NOT WRITE NAMES ON SUPPLIES

- 3 Boxes of 24 count pencils (preferably pre-sharpened)
- 1 Binder (3 ring, 1.5 inch)
- 6 Spiral notebooks (Wide Ruled)
- 3 Composition Books (Wide Ruled, 100 sheets)
- 3 Large boxes of Kleenex
- 10 Plastic pocket folders with brads
 - o (2 red, 2 blue, 2 green, 2 yellow, and 2 purple)
- 1 Pair of Blunt scissors
- 1 Box of Crayola Crayons (24 count, Classic Colors)
- 1 Box of colored pencils
- 1 Box of Crayola markers (Classic Colors)
- 3 Pack of highlighters (variety of colors)
- 4 Large glue sticks
- 1 Germ-X Sanitizer Bottles (8oz)
- 2 Boxes of Ziploc bags (Gallon size)
- 2 Packs of Notebook Paper (lined)
- 1 Box of Expo Dry Erase markers (thick, black)
- 1 Box of Expo Dry Erase markers (thin, black)
- 2 Containers of Clorox wipes
- 1 Package of dividers with Pockets





Fourth Grade Supply List

PLEASE DO NOT BUY SPECIAL SUPPLIES - DO NOT WRITE NAMES ON SUPPLIES

- 3 Packs of pencils (24 count)
- 5 Plastic Pocket folders with pockets and brads
 - Red- Math
 - o Blue- Science/SS
 - o Green- W&W
 - Yellow- Writing
 - Purple or Orange- Specials
- 3 Boxes of Kleenex (80 count)
- 2 Packs of Notebook paper (100 sheets, wide ruled)
- 3 Spiral Notebooks (100 sheet count wide-ruled) (plain colors, no characters)
- 6 Glue Sticks
- 1-2 pairs of Headphones (extra pair requested in case 1^{st} pair breaks)
- 2 Packs of Crayola Crayons (24 count, classic colors)
- 2 Packs of markers (Classic Colors)
- 2 Pairs of Scissors (Fiskars Blunt Tip)
- 3 Packages of Expo Markers (4 count Black, Thin)
- 4 Mead Composition Notebooks (Wide ruled, 100 sheet)
- 3 Containers of Lysol wipes
- 2 Germ-X Sanitizer Bottles (8oz)
- 1 Ruler (inches and centimeters)
- 1 Pack of highlighters (various colors)
- 1 Pack of Sticky Notes (variety of colors)
- 2 Rolls of paper towels
- 1 Pack of colored pencils
- 1 Box of paper clips (regular size)
- 1 Box of Staples
- 1 Ream of white copy paper
- 1 Pencil Pouch

Keep in Pencil Pouch:

- 4 Pink erasers (large)
- 1 Handheld pencil sharpener





Fifth Grade Supply List

PLEASE DO NOT BUY SPECIAL SUPPLIES - DO NOT WRITE NAMES ON SUPPLIES

- 3 Boxes of 24 count pencils (Preferably pre-sharpened)
- 2 Packs of index cards (4x5)
- 4 Wide Ruled Spirals (1 Red, 1 Blue, 1 Green, 1 Yellow)
- 4 Composition Books (100 Sheets, College Ruled)
- 3 Large boxes of Kleenex
- 4 Plastic folders with pockets and brad (4 different colors)
- 1 Pair of scissors (Fiskars Blunt Tip)
- 1 Box of Crayola Crayons (24 count, classic colors)
- 1 Box of colored pencils
- 1 Box of Crayola Markers (classic colors)
- 4 Pack of colored highlighters (variety of colors)
- 3 Large gluesticks
- 1 Germ-X Sanitizer Bottle (8oz)
- 3 Packs of Post-It Notes (Variety of colors and sizes)
- 2 Boxes of Ziploc Bags (Gallon Size)
- 2 Packs of Notebook paper (Lined)
- 1 Pack of colored construction paper
- 1 Box of Expo Markers (Black, thick)
- 2 Containers of Clorox Wipes
- 1 Box of red or blue pens
- 1 Ruler (with inches and centimeters)
- 1 Binder (3-ring, 2 inches)
- 1 Pack of Dividers with tabs





6th GRADE SCHOOL SUPPLY LIST					
Item	Quanitity	AVG Price		Total	
3-prong plastic folder	3	\$	1.00	\$	3.00
Pencils (12 pack) (1 for					
HR, 1 for students)	2	\$	0.78	\$	1.56
Notebook paper	1	\$	0.87	\$	0.87
Highlighters (4 pack)	1	\$	2.42	\$	2.42
Tissue (HR teacher)	1	\$	1.74	\$	1.74
Expo markers (HR					
teacher)	1	\$	4.88	\$	4.88
Hand Sanitizer (HR					
teacher)	1	\$	2.97	\$	2.97
composition (ELA)	1	\$	0.97	\$	0.97
sketch book (art)	1	\$	4.99	\$	4.99
colored pencils	1	\$	1.97	\$	1.97
TOTAL PRICE				\$	25.37

8TH GRADE SCHOOL SUPPLY LIST						
Item	Quanitity	AVG Price			Total	
3-prong plastic folder	6	\$	1.00	\$	6.00	
Pencils (12 pack) (1 for HR, 1 for						
students)	2	\$	0.78	\$	1.56	
Notebook paper	1	\$	0.87	\$	0.87	
Highlighters (4 pack)	1	\$	2.42	\$	2.42	
Colored pencils	1	\$	1.97	\$	1.97	
Tissue (HR teacher)	1	\$	1.74	\$	1.74	
Expo markers (HR teacher)	1	\$	4.88	\$	4.88	
Hand Sanitizer (HR teacher)	1	\$	2.97	\$	2.97	
1 subject College Ruled Spiral						
Notebook (Biology/ELA))	2	\$	0.97	\$	1.94	
Pens (Black or Blue)	1	\$	1.57	\$	1.57	
TOTAL PRICE				\$	25.92	

10TH GRADE SCHOOL SUPPLY LIST						
Item		AVG Price	Total			
Pencils (12 pack) (1 for HR, 1 for						
students)	2	0.78	\$1.56			
Notebook paper	1	\$0.87	\$0.87			
Highlighters (4 pack)	1	\$2.42	\$2.42			
Tissue (HR teacher)	1	1.74	\$1.74			
Expo markers (HR teacher)	1	4.88	\$4.88			
Hand Sanitizer (HR teacher)	1	\$2.97	\$2.97			
Pens (Black or Blue)	1	1.57	\$1.57			
composition notebook						
(ELA/HIstory)	2	0.97	\$1.94			
3-prong plastic folder	7	1	\$7.00			
1 subject College Ruled Spiral						
Notebook (Chemistry)	1	\$0.97	\$0.97			
			25.92			

7th GRADE SCHOOL SUPPLY LIST						
Item	Quanitity	AVG Price		Total		
3-prong plastic folder	3		1		3	
Pencils (12 pack) (1 for HR, 1						
for students)	2	\$	0.78	\$	1.56	
Notebook paper	1	\$	0.87	\$	0.87	
Highlighters (4 pack)	1	\$	2.42	\$	2.42	
Tissue (HR teacher)	1	\$	1.74	\$	1.74	
Expo markers (HR teacher)	1	\$	4.88	\$	4.88	
Hand Sanitizer (HR teacher)	1	\$	2.97	\$	2.97	
composition (ELA)	1	\$	0.97	\$	0.97	
sketch book (art)	1	\$	4.99	\$	4.99	
colored pencils	1	\$	1.97	\$	1.97	
TOTAL PRICE				\$	25.37	

9TH GRADE SCHOOL SUPPLY LIST						
ltem	Quanitity	AVG Price	Total			
3-prong plastic folder	6	\$1.00	\$6.00			
Pencils (12 pack) (1 for HR, 1						
for students)	2	\$0.78	\$1.56			
Notebook paper	1	\$0.87	\$0.87			
Highlighters (4 pack)	1	\$2.42	\$2.42			
1 subject College Ruled Spiral						
Notebook (History/Chemistry)	2	\$0.97	\$1.94			
Tissue (HR teacher)	1	\$1.74	\$1.74			
Expo markers (HR teacher)	1	\$4.88	\$4.88			
Hand Sanitizer (HR teacher)	1	\$2.97	\$2.97			
Pens (Black or Blue)(1	\$1.57	\$1.57			
composition notebook (ELA)	1	\$0.97	\$0.97			
TOTAL PRICE			\$ 24.92			

11th GRADE SCHOOL SUPPLY LIST						
ltem	Quanitity	AVG Price	Total			
Pencils (12 pack) (1 for HR, 1 for						
students)	2	\$0.78	\$1.56			
Notebook paper	1	\$0.87	\$0.87			
Highlighters (4 pack)	1	\$2.42	\$2.42			
Tissue (HR teacher)	1	\$1.74	\$1.74			
Expo markers (HR teacher)	1	\$4.88	\$4.88			
Hand Sanitizer (HR teacher)	1	\$2.97	\$2.97			
Pens (Black or Blue)	1	\$1.57	\$1.57			
composition notebook						
(History/ELA/Physics)	3	\$0.97	\$2.91			
3-prong plastic folder	7	\$1.00	\$7.00			
glue sticks	2	\$1.00	\$2.00			
Colored pencils	1	\$1.97	\$1.97			
Total Price			\$29.89			